ITI Welder 1st Year Module 8 Advanced Welding Process

(1). What is the name of the part marked ‘X’ shown in figure? | ICER: EQIiQ Ma X
fafed UM &1 I 1 82

(A) Nozzle | vold
(B) Plasma | ITSHT
(C) Swirl ring | @ 1
(D) Electrode | SAHIS

Correct Answer : B



(2). What is the name of part marked as ‘X’ in the plasma arc welding? | WiloHI

U AT H 'x & U | Ifgd R BT = R 8?2

:lj@ ®

R

(A) Nozzle | Tl

(B) Outer gasket | ST&<I <Y
(C) Electrode | ISR

(D) Resistor | Ip=dTall

Correct Answer : C

(3). Which gas is suitable for welding of stainless steel, nickel alloys by plasma arc

welding? | TITSHT 3{Tdh AfeSTT GRT ¥e-Tod Tid, Fad s urg &1 afedn o forg
&I I 719 Iugad gt 872

(A) Argon | 3T

(B) Helium | BifergH
(C) Hydrogen | BTZgIoH
(D) Neon | =g

Correct Answer : C




(4). Which welding process is done by chemical reaction between a metal oxide

and metal? | Hed 3dATSS 3R Aed & s IS Ufafhar gR1 &9 I
Af&T ufesar ot STt 82

(A) Electro slag welding | 3@3@@“3%7[
(B) Election beam welding | Wﬁﬂﬂa%ﬂ
(C) Thermit welding | yfife afcgm

(D) TIG welding | TIG afeET

Correct Answer : C

(5). What is the temperature in the weld area plasma arc welding process? | BIE)

& TTHT 3MTch afeaTT UfshaT & dTIH &1 Bl g2

(A) 20,000°C to 30,000°C

(B) 30,000°C to 35,000°C
(C) 15,000°C to 20,000°C
(D) 35,000°C to 40,000°C

Correct Answer : A

(6). Which type of light can be used in laser beam welding? | oo I afcs T H

5T UBR & @Tgc BT IUNT fHa1 o1 Tehdl 82
(A) Sunlight | ¥ cllsC
(B) Infrared light | S'HOI-\{S NIEL

(C) Ultra violet light | 3{eCT dRITIC ATSC
(D) Mono chromatic light | ﬁﬁ%?ﬂ%ﬁ

Correct Answer : D



(7). Which gas is suitable for welding of carbon steel and titanium by plasma arc

welding process? | TATSHT 3Teh AfeE T UfehaT gRT e Wi @T?@ﬁﬁﬂﬁ
AT & forg o T 9 Iugea Bt B2

(A) Helium | siferad
(B) CO.

(C) Argon | 3
(D) Neon | GILG|

Correct Answer : C

(8). What material is used to make electrode in spot welding? | Wic dfceTH

gdaes 9 & fore ford Tryelt o1 o fosan ST /2
(A) Iron electrode | ﬂ\leﬁ‘éad@\\ls

(B) Copper alloy electrodes | HIOR T ﬂ]ﬂ%@lﬂ@j—é
(C) Silicon electrodes | ﬁri%lﬁ:fs@a%j—s'

(D) Castiron electrodes | PIRC WE@G@’S’

Correct Answer : B

(9). What is the advantage of laser beam welding? | SoR A Afces T &1 BIael
FTG?

(A) High capital | BT dbfucd

(B) Skilled operation | BRI HATA

(C) Higher operating cost | 3 URETEAH SEd
(D) Deep narrow weld | ﬁqﬁﬁac—s




Correct Answer : D

(10). Which gas is generally used in gas laser type welding? | %W?ﬁqa%ﬂ
o AR IR o 7199 &7 SUANT fohan ST 82

(A) Carbon - di - oxide | PTa SRS
(B) Neon gas | Fai- 71

(C) Argon gas | 3= T

(D) Oxygen | SHTRITSH

Correct Answer : A

(11). How much time it takes for the thermit mould to cool, after welding by
thermit process? | WWWW%W yfife Hicg B dal Eﬁe[ff
f a1 gHY @I 82

(A) 7 Hrs

(B) 9 Hrs

(C) 10 Hrs

(D) 12 Hrs
Correct Answer : D

VNN

(12). Which electrode is movable in spot welding? | TUIC d[¢S]T] H GI’?I"I RSl

SAIFGIS YA ATl Bl &2
(A) Both moved | ?ﬁ’vﬁ‘{ﬂ?r%

(B) Both not moved | Q\I"I\I':lﬁq\l-ld

(C) Upper electrode | S saqc:ls

(D) Lower electrode | ﬁﬂ?ﬂ%@lﬁfﬁl@'



Correct Answer : C

(13). What crystal (rod) is used in laser beam welding? | o o dfee T | fbg

fopecd (RTg) &1 IUANT fbar Srar g2
(A) Iron | 3R

(B) Ruby | =&

(C) Copper | BIUR

(D) Stainless steel | g T

Correct Answer : B

(14). Which electrode is used in plasma arc welding? | WilGHI 3(Teh AfcET H fpyg
ZAICIS BT SUTNT fhaT ST /2

(A) Castiron | PRC HURA

(B) Mild steel | HISTS ld

(C) Tungsten | %A

(D) Stainless steel | TAad ©d

Correct Answer : C

(15). What material the plasma arc cutting nozzle is made up of? | WIlGHI 3T

ST Aerd forg verd I s graT 82
(A) Copper | A&l

(B) Platinum | @fe=d

(C) Zirconium | SIPITH

(D) Stainless steel | oY T




Correct Answer : A

(16). What is the name of part marked as ‘X’ in the Laser beam welding? | TR

ST AfET A x P U A fRIfgd URT BT = R 82

(A) Laser beam | CIoR &1H

(B) Ruby rod | ¥l S

(C) Cooling system | PiciT RIEeH
(D) Flash lamp | FIRI T

Correct Answer : B



(17). Which process cuts the stainless steel, carbon steel with the help of high jet

velocity? | ﬁ@WW@?@TﬁW@W@F{,WWﬁ
HIedl g?

(A) Plasma arc process | WIlHI 3Th T

(B) Micro plasma cutting process | ATgeh] WISHT BT TIIH
(C) Key hole plasma process | ﬁ%ﬁawuﬁﬂ
(D) Non-transferred plasma arc | Hﬁ@@ﬁgw Gﬂé;_XOOOD_

Correct Answer : A

(18). Which is a resistance welding method? | Wiﬁl@ﬂé’%ﬂﬁﬁ[ﬁq?ﬁg?
(A) Spot welding | Wic dfeaT

(B) Forge welding | IS afegT

(C) Thermit welding | yfife afcgm

(D) Explosive welding | Wﬁlﬁé’%ﬂ

Correct Answer : A



(19). What is the name of part marked as ‘X’ in the spot welding machine? | i

AT A A x & Tu d RIRa UM ST A R B2

)
()
- Tl

= - - kr}‘%Fu

(A) Air cylinder | Wﬁl@l@?
(B) Pivot point | m?tﬁ%?
(C) Rockerarm | BT SATH

(D) Electrode | E@ITT@_S'

Correct Answer : C

(20). Which resistance welding machine is provided with an electrode in wheel

shape? | B U1 AfcET A= § Saidpels qgid & SMHR A BT 8
(A) Spot welding | Wic dfeaT

(B) Seam welding | W afesT

(C) Projection welding | olaR afca

(D) Flash butt welding | TR 9 afeaT

Correct Answer : B







